Klippans BK

Partavling 2022-03-03

Partavling, 6 bord, 11 par. Antal brickor: 27. Medel: 107.6. Frirond (*) ger egen procent.

Plac  Par Poéng % Namn MID Klubb
1 12 125.7 58.18  Borje Ivarsson - Eivor Viebke 5884 27712  Klippans BK
2 6 125.4 58.04 Eva Paulsson - Gunilla Lundstrém 30183 48977  Klippans BK
3 1 122.4 56.66 Nils-Erik Ekholm - Lena Tuvesson 5455 64009  Munka Ljungby BS
4 11 122.0 56.46  Ingrid Olsson - Gunnel Mansson 5895 88774  Klippans BK
5 8 108.2 50.10 Karin Lindberg - Siw Sénne 60932 60931  Klippans BK
6 4 104.8 48.50  Berit Andersson - Ingmar Kramer 5880 50998  Klippans BK
7 7 104.6 48.40  Michal Wachalski - Karla Méller 46225 60569  Klippans BK
8 2 97.3 45.03 Laila Alfredsson - Berit Tonnemo 60935 60934  Klippans BK
9 5 94.2 43.61  Andreas Johansson - Gerry Jénsson 24913 27020  Munka Ljungby BS
10 3 91.5 42.37  Rune Gustafsson - Hans Nilsson 5902 26592  Klippans BK
11 9 87.5 40.51 Ronald Engstrdm - Ingela Hall 68111 68112  Klippans BK
1 » E9876 Basta kontrakt 2 & Kn742 Basta kontrakt 3 D5 Basta kontrakt
Nord vE104 54 N =450 Ost v432 6NT O =-990 Syd v EKn5 3v S =140
Ingen + Kn96 NS + 1053 ov ¢ Kn532
»86 & ¢ v o NT #KKn10 & ¢ v o NT D972 & ¢ v & NT
4 Kn4 4 D102 N 109 8 1110 4 E1053 4 KD98 N6 2111 4 KKn106 4842 N9 89 8 8
vD9852 vKn63 S 109 8 1110 vKD5  vEKn876 S62111 v10632 vK8 S 989838
¢+ E8 4107543 034522 ¢+ KD86 ¢72 O 7 11121212 + K106 + D987 O45 4 44
£10975 &#K2 V34522 *84 *ED vV 7 11121212 *84 #Kn1053 V45444
4 K53 46 4 E973
vK7 v 109 v D974
¢+ KD2 + EKn94 ¢E4
#EDKn43 #976532 *EK6
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr ut Res  Poang
4 9 3NS+2 v2 460 80 00| 4 9 4e4V-1 +5 50 8.0 00| 4 9 3NS+1 aT 430 7.0 1.0
3 11 3NS+1 v2 430 6.0 20| 3 11 44 V+1 +5 -450 50 30| 6 8 3NS+1 46 430 7.0 1.0
7 12 44 N= *T 420 40 40| 6 8 44 V+1 &T -450 5.0 30| 7 12 3NS= aT 400 40 4.0
2 5 3NS= v2 400 10 70| 7 12 4v O+2 ¢ A -480 2.0 60| 2 5 3NS-2 v3 -100 1.0 7.0
6 8 3NS= v2 400 10 70| 2 5 64V= +3 -980 0.0 80| 3 11 3NS-2 46 -100 1.0 7.0
-1 51| - 1 51| - 1 5.1
4 4 EDKn985 Basta kontrakt 5 4 K8 Basta kontrakt 6 4 Kn7 Basta kontrakt
Vast v 104 44 N D -2 -500 Nord v K62 44 O =-420 Ost v Kn9865 2NT S =120
Alla *7 NS + D1072 ov ¢ KKn6
10986 & ¢ v & NT #E854 & ¢ v & NT #EKn6 & ¢ v & NT
a K2 4107 N6 5384 410432 4 ED75 N8 3425 4 D95 41086 N7 6 88 8
v 986532 vEKD S65384 v85 vEKn1093 S 7 3 3 2 4 vK vD1073 S 761888
¢ E5 ¢ KKn962 O 6 8 105 7 ¢ EKKn943 ¢ 65 O5 9 8 107 ¢ ED10974 ¢52 06 7545
#EKN7 #4542 vV 6 8 105 9 +10 *K9 V59 8 107 *K94 #D853 V67545
4643 & Kn96 & EK432
vKn7 vD74 vE42
+ D10843 +8 +83
#KD3 #DKn7632 #1072
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr ut Res  Poang
11 4 4v V-1 *7 100 80 00| 7 9 2&4N+1 v3 110 80 00| 7 9 2v N+2 2 170 8.0 0.0
3 6 4v V= *7 620 4.0 40 5 1 INV= &5 90 6.0 20|11 4 2¢ V-1 LY 100 6.0 2.0
7 9 4v V= *7 -620 4.0 40| 8 12 34 V= A -140 40 40| 3 6 34S-1 ¢ A -50 3.0 5.0
8 12 4v V= a A -620 4.0 40| 3 6 3vO+1 LX) -170 20 60| 5 1 3vN-1 +5 -50 3.0 5.0
5 1 4vV+1 oA 650 0.0 80|11 4 44 O+1 *Q -450 0.0 80| 8 12 2¢ V+1 a7 -110 0.0 8.0
-2 30| - 2 30| - 2 3.0
7 D6 Basta kontrakt 8 4 E543 Basta kontrakt 9 4 D98763 Basta kontrakt
Syd vKn3 6NT V =-1440 Vast vE105 54 N =450 Nord vE53 44 N D -3 -500
Alla + D75 Ingen + 1052 ov + 1098
#987642 & ¢ v & NT #EKn7 & ¢ v & NT »8 & ¢ v & NT
4 KKn53 4E108 N61411 4876 4 D9 N 106 5 118 4 K54 aE2 N7 6474
vE5 v 10762 S61411 vD9432 vKKn87 S 106 5 118 vKDKn9 v 108642 S76474
¢ E8642 ¢ KKn103 O 6 129 1212 493 ¢ EKn864 026824 ¢ D54 ¢ EKn2 06 6 849
#E3 #DKn V 6 129 1212 *K63 «D5 V262824 «D92 *K76 V668409
49742 & KKn102 +Knl10
v KD984 v6 v7
+9 + KD7 + K763
#K105 #109842 #EKNn10543
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr ut Res  Poang
12 9 5¢ O= &5 -600 8.0 00| 5 11 44 N+1 ¢ A 450 8.0 00| 5 11 4v V-2 «8 200 8.0 0.0
6 2 5¢V+1 «9 620 6.0 20| 4 7 34 N+2 *Q 200 6.0 20| 6 2 24 N+1 vT 140 6.0 2.0
4 7 3NO+1 vJ 630 4.0 40| 6 2 34 N= v8 140 30 50| 4 7 4v0-1 a) 100 3.0 5.0
5 11 3NV +2 *4 -660 1.0 7.0(12 9 24 S+1 +3 140 30 50| 8 1 4v0-1 +3 100 3.0 50
8 1 3NV+2 *4 660 1.0 70| 8 1 44 N-2 *Q -100 0.0 80|12 9 3vO+1 ] -170 0.0 8.0
- 3 36| - 3 36| - 3 3.6
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10 492 Basta kontrakt 11 & EK75 Basta kontrakt 12 4~ ED84 Basta kontrakt
Ost v EKn108 34 O =-140 Syd v 9743 3NTV =-400 Vast v ED6 49 N =130
Alla + D10985 Ingen +9 NS + D7
#EKn & ¢ v & NT #9642 & ¢ v & NT #10965 & ¢ v & NT
4 K5 4EKN10874 N 5 5 7 4 4 41098 4DKn3 N45554 4 Kn763 4 K109 N 109 7 7 8
v72 v K63 S547 33 vD102 v KKn6 S4555 4 v732 vKn10985 S 109 7 7 8
4743 ¢ EKn62 0886 9 8 ¢ E1062 ¢ K54 098889 ¢ 109 ¢ E632 0346054
#KD10642 &- V 886 9 8 #E108 #DKn75 V98889 #EKN73 &D V346054
« D63 4642 452
v D954 vE85 vK4
+ K + DKn873 + KKn854
#98753 »K3 »K842
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr Ut Res  Poang
6 11 44 O-2 ¢+ K 200 70 10| 1 12 2¢ S-2 oT -100 8.0 00| 1 12 4¢vDO-5 a5 1100 8.0 0.0
7 3 44 0-2 ¢+ K 200 70 10| 9 2 2NO= +3 -120 6.0 20| 7 3 3NN= v] 600 6.0 2.0
5 8 340-1 +K 100 40 40| 7 3 INO+2 46 -150 4.0 40| 5 8 INS+2 &3 150 40 4.0
9 2 240= ¢+ K -110 2.0 6.0| 6 11 INV+3 +9 -180 20 60 9 2 3NN-1 v5 -100 2.0 6.0
1 12 34 0= v5 -140 0.0 80| 5 8 1vRDN-1 &7 -200 0.0 80| 6 11 2NN-2 v] -200 0.0 8.0
- 4 45| - 4 45| - 4 4.5
13 4 E10965 Basta kontrakt 14 4 Kn9843 Basta kontrakt 15 4 D43 Basta kontrakt
Nord v 1097 6NT O =-1440 |Ost v EKn 6v O =-980 Syd v 82 3NT S =600
Alla + 105 Ingen + D96 NS + ED1093
#Kn65 & ¢ v & NT #K109 & ¢ v & NT #KKn8 & ¢ v & NT
« KD2 4« Kn N3 1051 452 s E N7 117 2 4 EK95 41062 N7 96729
v D852 v EK43 S31051 v 1096543 vKD72 S7117 2 vEK6 v109753 S797729
¢ EDKn83 ¢ 762 O 1012128 12 + K842 ¢ EKn107 O 5 11125 8 ¢54 ¢ Kn2 O5 465 4
+10 #EK743 V 1012128 12 *6 #EKn82 vV 5 11125 8 D653 #742 V546054
48743 4« KD1076 & Kn87
v Kn6 v8 v DKn4
+ K94 +53 + K876
»D982 #D7543 #E109
Par Kontr ut Res  Poéang Par Kontr ut Res  Poéang Par Kontr Ut Res  Poéang
1 3 4v0O+1 8 650 80 00| 6 9 34 N= v2 140 80 00| 1 3 3NS= s A 600 8.0 0.0
6 9 4v O+2 ¢4 -680 50 30 1 3 3¢ V+1 3 -130 6.0 20|11 7 3¢ N+1 &7 130 6.0 2.0
11 7 4v O+2 8 680 50 30|11 7 5vV= a) 450 4.0 40| 6 9 24 V-1 ¢ A 50 3.0 50
2 12 4v O+3 +4 -710 1.0 70| 2 12 5v O+1 a7 -480 10 70| 8 4 2vV-1 ¢ A 50 3.0 50
8 4 4v O+3 *2 -710 1.0 70| 8 4 4y V+2 3 -480 1.0 70| 2 12 3¢ N-1 vT -100 0.0 8.0
- 5 39| - 5 39| - 5 3.9
16 87 Bésta kontrakt 17 & K5 Bésta kontrakt 18 » KD62 Bésta kontrakt
Vast vE 44 N =130 Nord v EKn1083 3NTV =-400 Ost v 632 2¢ O =-90
oV ¢ E974 Ingen ¢+ E975 NS ¢ 72
#986432 & ¢ v & NT *96 & ¢ v & NT #KD32 & ¢ v & NT
& DKn 410643 N 108 4 8 5 4 E92 4« DKn63 N65554 4 Kn10954 3 N6 4665
vKn1087654 vK32 S 108 4 8 5 vKD976 v54 S6 5554 vD84 v EKn7 S6 4665
¢+ K2 ¢ Kn853 035848 + D6 ¢ KKn42 O7 7 888 ¢ EKn10 ¢ D9643 078677
&K7 #E10 V35848 *E52 #DKn7 V77889 *64 #E975 V78677
& EK952 + 10874 4 E87
vD9 v2 v K1095
+ D106 41083 + K85
#DKn5 #K10843 #Kn108
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
9 5 4v V-2 *2 200 80 00| 8 11 24 O-1 v2 50 8.0 00|12 3 2NO-1 v9 50 8.0 0.0
2 4 49041 aA 100 50 30| 7 1 1vN-1 «Q -50 50 30| 2 4 Pass 6.0 2.0
8 11 4v V-1 a8 100 50 30| 9 5 1vN-1 v5 -50 5.0 3.0| 8 11 2¢ O+1 v5 -110 4.0 4.0
7 1 34S-1 vJ] 50 20 60 2 4 3NV= ¢+5 400 2.0 60| 7 1 INO+1 v5 -120 2.0 6.0
12 3 3v V= 8 -140 0.0 80|12 3 3NV+1 vT 430 0.0 80| 9 5 INO+2 v9 -150 0.0 8.0
- 6 42 - 6 42 - 6 4.2
19 » 10654 Bésta kontrakt 20 452 Bésta kontrakt 21 a- Bésta kontrakt
Syd v D7 4v V =-620 Vast v EKn942 44 N =130 Nord v E983 ANT O =-430
oV 4109 Alla +94 NS + E109854
#KKn842 & ¢ v & NT #D1095 & ¢ v & NT »K64 & ¢ v & NT
aKD72 #E3 N5 7 354 |10 « EKD874 N 103 6 5 8 «KD752 4EKn8 N455 33
vKn954 v EK1082 S57 35 4 | vK753 vD106 S 103 6 5 8 vKKn2 vD74 S45533
42 ¢ 86 O7 6 108 6 ¢+ KKn107652 ¢ D8 039785 ¢+ KDKn3 ¢ 76 O7 8 7 1010
#E75 #10963 V 7 6 108 6 | «K »64 V39785 »3 #EDKn108 V 7 8 7 1010
 Kn98 # Kn963 # 109643
v 63 v8 v 1065
+ EKDKNn753 ¢+E3 2
D #EKN8732 #9752
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr ut Res  Poang
3 5 44 S-1 v5 50 7.0 10| 1 6 3NO-3 8 300 8.0 00| 4 12 44 V-2 ¢A 100 8.0 0.0
8 2 3¢S-1 v] 50 70 10 3 5 340= ¢+ A -140 40 40| 1 6 4e V-1 ¢ A 50 6.0 2.0
1 6 4¢S-3 v4 -150 2.0 60| 4 12 34 O= &7 -140 4.0 40| 3 5 4e V= vA -420 4.0 4.0
4 12 34 N-3 vA -150 2.0 60| 8 2 24 O+1 v8 -140 4.0 40| 8 2 3NV+1 &4 -430 1.0 7.0
9 11 4¢ S-3 vJ] -150 2.0 60| 9 11 34 O+1 &3 -170 0.0 80| 9 11 3NV+1 ¢ A -430 1.0 7.0
-7 40( - 7 40( - 7 4.0
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22 4 KKn76 Basta kontrakt 23 49542 Basta kontrakt 24 4 DKn Basta kontrakt
Ost v3 2NT S =120 Syd v 387 3¢ V =-110 Vast v 876 54 V =-450
ov + D9543 Alla + KKn9 Ingen + KKn96
D64 & ¢ v & NT #DKn107 & ¢ v & NT &E632 & ¢ v & NT
410543 498 N7 97 88 aKn76 &E3 N6 4777 «E8764 & K109 N6 3323
vD vKnl09742 S 7 9 7 8 8 vKn v D1096 S64777 v93 v EKD10 S6 3323
¢+ E1076 ¢ KKn O6 46 45 410842 ¢ E7653 O7 9656 +D1087 ¢ E32 O7 9 9 119
&#KKn108 #975 V646145 &#K9654 &E8 V796 46 &KD 354 vV 7 109 119
4 ED2 4 KD108 4532
v EK865 v EK5432 v Kn542
+82 +D +54
#E32 *32 #Kn1097
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res  Poang
11 1 3NN-= vJ 400 80 00| 2 7 24 S= *T 110 70 10|11 1 64V-3 v7 150 8.0 0.0
2 7 2NN= a9 120 6.0 20| 4 6 2vS= &4 110 70 10| 9 3 3NV-2 &J 100 6.0 2.0
9 3 24N= vJ 110 40 40|11 1 34S-2 vJ 200 4.0 40| 5 12 24 V+2 v6 -170 4.0 4.0
4 6 46 N-1 vJ 550 1.0 70| 5 12 44 N-3 ¢A -300 1.0 70| 2 7 24 V43 &2 -200 2.0 6.0
5 12 24 S-1 vQ 50 10 70| 9 3 445S-3 vlJ -300 1.0 70| 4 6 3NO= &J -400 0.0 8.0
- 8 3.5 - 8 3.5 - 8 3.5
25 454 Basta kontrakt 26 4 D1095 Basta kontrakt 27 4 EKn10 Basta kontrakt
Nord v EKD6 3v N =140 Ost v5 6NT O =-1440 Syd v KD9862 34 VD-1100
ov ¢+ E632 Alla + DKn1054 Ingen + 107
K105 & ¢ v & NT K104 & ¢ v & NT &#Kn8 & ¢ v & NT
& EKD1032 & Kn97 N6 9 9 47 4EKGE2 484 N14131 4D962 #K84 N7 4956
v 10975 vKn S6 9947 vEDKNn9 K742 S14131 vE v 1073 S74956
+8 + DKn105 O7 4485 ¢ EK7 +98 O 118 121012 49643 ¢ EKDKn5 O6 9486
&Kn4 #97632 V74485 &32 &#EKNn965 V 118 121012 10942 #D5 V69 486
486 4 Kn73 4753
v 8432 v 10863 v Kn54
¢ K974 ¢ 632 +82
#ED8 D87 #EK763
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res  Poéang
5 7 4v N= +Q 420 80 00| 1 4 6vV-1 +Q 100 70 10|12 6 3vN= *A 140 8.0 0.0
1 4 4v N-1 +Q 50 40 40| 3 8 44 V- v5 100 70 10| 3 8 44 0-1 vlJ 50 6.0 2.0
2 11 3NN-1 +Q 50 40 40|12 6 4v V= +Q -620 40 40| 1 4 3vN-1 ¢A -50 3.0 5.0
12 6 4vy N-1 +Q 550 4.0 40| 2 11 4v V+1 a5 650 1.0 70| 5 7 4v N-1 +K -50 3.0 5.0
3 8 4¢vy N-2 &2 -100 0.0 80| 5 7 4v V+1 +Q 650 1.0 70| 2 11 2¢ O+1 vlJ -110 0.0 8.0
-9 2.6 -9 2.6 -9 2.6
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